Intermediate code

The Java statement

                   while  (1 < p && p < 9)  p = p + q;
might be treated as equivalent to 

                 L0      if 1 < p goto L1 

                           goto L3 

                 L1      if p < 9 goto L2 

                           goto L3 

                 L2      p = p + q 

                           goto L0 

                 L3      continue 

Or it might be treated as equivalent to
                 L0      T1 = 1 < p 

                           T2 = p < 9 

                           if T1 and T2 goto L1 

                           goto L2 

                 L1      p = p + q 

                           goto L0 

                 L2      continue 

depending on whether the semantics of the language require the so-called sequential conjunction or short-circuit approach to handling compound Boolean expressions, or the so-called Boolean operator approach.   Modula-2, C, C#, Java and C++ require the short-circuit approach.  
However, Pascal did not specify that one approach be preferred above the other.
